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Please check that this question papercontains 12 printed-pages.
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on the title page of the angweér-book by.the candidate.

Please check that this question paper coritains 30 guestions.
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15 minute time has been allotted to read this question paper. The question paper
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read the question paper only and will not write any answer on the answer-book
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All questions in both sections are compulsory.
Marks for questions are indicated against each question.

Question No. 1- 5 and'16 - 20 are very short answer questions carrying 1 mark each.
They are required to be answered in one sentence.

Question No. 6 - 8 and 21 - 23 are short answer questions carrying 3 marks each.
Answers to them should not normally exceed 60 words each.

Question No. 9 - 11 and 24 - 26 are also short answer questions carrying 4 marks
each. Answers to them should not normally exceed 70 words each.

Question No. 12 - 15 and 27 - 30 are long answer questions carrying 6 marks each.
Answers to them should not normally exceed 100 words each.

Answers should be brief and to the point and the above word limit be adhered to as
far as possible.
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Qug - A
SECTION - A

Ifc A Tae AN I B, A SEa IRedt ard IR I9d $d ard § ®=nEay 1
=B ?

What is the relation between Average Variable Cost and Average Total Cost, if
Total Fixed Cost is zero ?

Teh TH Uk o i feha1 oft 710 <1 Tt a9 Hehedt § 1 ®H @t digia gt 1
(3TMH) :
(&l fashed Q) -

(a) T9a T 31fee Bl
(b) THd g 8 A B

(¢ IHd THIia & WHF el

@) = e

A firm is able to sell any quantity of a good at a given price. The firm’s marginal
revenue will be :

(Choose the correct alternative) :

(a) Greater than Average Revenue
(b) Less than Average Revenue

(¢ Equal to Average Revenue

(d) Zero

‘Ti A qfierda’ %9 AT ? 1

When does ‘change in demand’ take place ?
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(a) HAA TRITHRINH TNl i
(b) HAA TCUMYRR i

© ThIemer gfadifitar 3R sTeufier SH &t
d) THIURR F

Differentiated products is a characteristic of :

(Choose the correct alternative) :

(@) Monopolistic competition only

(b) Oligopoly only
(¢) Both monopolistic competition and oligopely

(d Monopoly

79 AR § T ®H &1 A g5 qUiqar-ei=en aidl @
(2! faesheq gfT) :

() Of g

(b) THTHTHR

) Uepifeantiiar wfqanfima

d) STUIHhR

Demand curve of a firm is perfectly elastic under :
(Choose the correct alternative)

(a) Perfect competition

(b) Monopoly

(¢) Monopolistic competition

(d) Oligopoly
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A consumer consumes only two goods X and Y. Marginal utilities of X and Y are
3 and 4 respectively. Prices of X and Y are ¥ 4 per unit each. Is consumer in
equilibrium ? What will be further reaction of the consumer ? Give reasons.

7. IR H B H 10 TR G HTIHRT HI W R AW AW AR WA B G A 3
(a) TF, (b) — 1, (c) — 2|

What will be the effect of 10 percentrise 1n price of a good on its demand if price
elasticity of demand is (a) Zero, (b).—1; (¢c) — 2:

8. =IAdH hiHd HIH § 1 AMMUTA €7 8k INUTH FHSEC | 3

HAAT

I IAHAM TR HIHd A hHa W S &, qA THh BRI T aed FHEl h
S HHEET |
What is minimum price ceiling ? Explain its implications.

OR

If the prevailing market price is above the equilibrium price, explain its chain
of effects.

9. HT &I g T SSIR AT Rl GHIfd i dTel ek SdeT | 4

Define demand. Name the factors affecting market demand.
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3TEd AT 1 IRYTT ST T IR0 ANT | SR Fard g¢ wusEl R
S-S 3Ae § gfg w At € S9d o9 @RI 1 SaeR 1 W&l © 2
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Define fixed cost. Give an example. Explain with reason the behaviour of
Average Fixed Cost as output 1s increased.

OR

Define marginal product. State the behaviour of marginal product when only
one input is increased and other inputs are held constant.

el Weh ITUTE o1 eh U T 12 Wi 518 W HZahi 3 9 9fd 3Bl Sdl-§, A1 ST SIS
&1 gfd 75 T HE RIgeE | U BLAHG AR R SIS

When price of a commodity falls from 2.12per unit £0 T 9 per unit, the producer
supplies 75 percent less output. Caletilate price elasticity of supply.

T reforaeel ¥ = gue =i 41 et 2 feees Ty sared fam s

g IS THEARE |

Why do central problems of an economy arise ? Explain the central problem of
“for whom to produce” ?

AT Fehi ohl <A foRioaredi el ST hifsiu |

Explain three properties of indifference curves.
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ST GTE GHSET | {@Tiasi ol FIM i |

Examine the effect of (a) fall in the own price of good X and (b) rise in tax rate on
good X, on the supply curve. Use diagrams.

gieda udrenfe=l o foTe uos 9T 14 & T W
(a) T X I T HFd A AR (b) TFG X W F HI R IgH &1 gid W F9E
AT | ATl &1 TN HifeT |

For blind candidates in lieu of Q. No 14.

Examine the effect of (a) fall in the own price of good X and (b) rise in tax rate on
good X on supply of a good. Use schedule.

15. Teh QUi giaarht sismed frefefad & aRomd] s smegt, ST
(a) Tasharsti &l se 9&=
(b) HHET IS
AT
Teh TCUITYSHR I | (= IRgd @ GIoTHl &1 SR STy
(a) 2 WHI & e H Hehrae

(b) HId FB A FS I IAGH

Explain the implications of the following in a perfectly competitive market :
(a) Large number of sellers
(b) Homogeneous products.
OR
Explain the implications of the following in an oligopoly market :
(a) Barriers to entry of new firms

(b) A few or a few big sellers

58/1 7 P.T.O.
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Qg -d
SECTION - B

16. JdT® i gty ifs

Define flows.

17. Tr=fafEd =1 9 SR T &1 30 UL 3T Hed[ © ¢

(Tt fareg i)
(a) IR

(b) Tl &t
ORREEIL

@ TremT 3R R-fam SH

National income is the sum of factorincomies aceruing to :
(Choose the correct alternative)

(@) Nationalg

(b) Economic territory

(¢ Residents

(d) Bothresidents andnen-residents

18. TR ool ® U gifterd) s Ifaa @ 2

What are revenue receipts in/agovernment budget ?

19. 9T =1e1 56 A BT 2 -

(3! fasheg Q)
(a) =B

(b) AT IIdT
(© RUI T AN A

NN

) 9T IR A PTAE T

Primary deficit equals :

(Choose the correct alternative)

(a) Borrowings

(b) Interest payments

(¢) Borrowings less interest payments

(d) Borrowings and interest payments both

58/1 8
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(a) =TS T
(b) USIHTd T
(© T e

d) TEENH TG AT

Foreign exchange transactions which are independent of other transactions in
the Balance of Payments Account are called :

(Choose the correct alternative)
(a) Current transactions

(b) Capital transactions

() Autonomoustransactions

(d) Accommodating transactions

21. I IRATGH A T 200 HUS & ST HIAL GBI L35l Allach 3T o IRhad 3
HITSTT |

Assuming real income to be T 200 crore and price index to be 135, calculate
nominal income.

22, UHY HIM H 71 AU T ? THH ®ZHh JaET | 3
3qUdAT

Treme for g1 Smfd W e wem | sifer &1 Y %u fmar S e 2
What is aggregate demand ? State its components.

OR

Explain how controlling money supply is helpful in reducing excess demand.

58/1 9 P.T.O.
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Teh AefeTeree] Hqo | €1 HiHid ST Yo ol qReher whifeg :

LR 3™ =1000
A STHN = = 200
=3 = 100

An economy is in equilibrium. Calculate Marginal Propensity to Consume :
National income = 1000
Autonomous consumption expenditure = 200

Investment expenditure = 100

e oTR Eista & o forshl, fasioaan s @il § fRm ag W § 1 39 Johd :q.
3TE S HedTo] T USH ale) THEN hl SAEAT it |

Sale of petrol and diesel cars is rising particularly in big cities. Analyse its

impact on grogs doméstic product and welfare.

o e

a1 &1 fafma o1 mean’ s aeEE | ed axq fafima o gatua awen @6
AT 4 T €2

YT

faSl

ST o1 AR AT ohl HHeh | Sh1d HHEEY | 38 a%q fafra o Heifoa aen
w1 W HY T €7

Explain the ‘medium of exchange’ function of money. How has it solved the

related problem created by barter ?
OR

Explain the ‘standard of deferred payment’ function of money. How has it
solved the related problem created by barter ?

TR ‘Y0 X fohe YR 0 g & e § geee § ekt ¢

Explain how ‘Repo Rate’ can be helpful in controlling credit creation.
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What is the difference between revenue expenditure and capital expenditure ?
Explain how taxes and government expenditure can be used to influence
distribution of income in the society.

OR

What is the difference between direct tax and indirect tax ? Explain the role of
government budget in influencing allecation of resources.

28. F9d g% Y SUNNT Th T K0 S U1 hiq B ffl S4 91l =01 qse | Y@ifes 6

T FA hifel

Given saving curve, derive consumption curve and state the steps in doing so.
Use diagram.

gited faenfyfat & fag ug.9en 28 o @ W)

YU Theld GHEE | I9UFT Hetd § Sa-Theld 9 ifeid |
For the Blind Candidates in lieu of Q. No. 28.

Explain consumption function. Derive saving function from consumption

function.

29. WRA v fagel # S9R <d €1 FAfaied 7991 1 S| ST 6
() YTAH Gqad o@l & g 3uerar R fad 18 T 98 3R TS a2 SR
T |
(b) Y IYR 1 IR fAHHT < W JHE THAET |

Indian investors lend abroad. Answer the following questions :

(a) Inwhich sub-account and on which side of the Balance of Payments Account
such lending is recorded ? Give reasons.

(b) Explain the impact of this lending on market exchange rate.
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‘IR FHHd W Thd T 3416 3R F5f 3™ Ja ifere |

G Tsit SAfag a9 =

(i) forell =l freret =] T&ATRl
(iii) faeEl =l o wRE A=
(iv) TR Afad 3udm ==

(v) THeret scae =it

(vi) o <efr it fafor

(vii) TR gRT =Te] TG0
(viii) 7 B

(ix) e smam

(x) TIER Hi 9 e7F
(xi) TETH RO T &S

Find Gross National Productiat Market Price and Private Income :

(1) Private final consumption expenditure
(1) Net current transfers to abroad

(1i1) Net factor income to abroad

(iv) Government final consumption expenditure
(v) Net indirect tax

(vi) Net domestic capital formation

(vi1) Current transfers from government
(vii1) Depreciation

(ix) Netimports

(x) Income accruing to government

(x1) National debt interest
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